Tekst 11 CT scans

1p 39 Which of the following fits the gap in the text?

A the absence of adequate monetary compensation for conducting these
tests in the U.S.

B the complexity of thoroughly analysing and processing medical images
and digital data

C the current structure for how these exams are requested in the U.S.
health care system

D the rivalry between American medical practitioners and radiological
diagnosticians

Tekst 12 The BBC should not just peddle fashionable views

1p 40  Which of the following fits the gap in the text?
A exactly wrong
B ill-timed
c of little importance
D wide-ranging

Bronvermelding
Een opsomming van de in dit examen gebruikte bronnen, zoals teksten en afbeeldingen, is te vinden in het bij dit examen
behorende correctievoorschrift, dat na afloop van het examen wordt gepubliceerd.
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